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E(aX + bY) = aμX + bµY 
Var(X) = ܧ(ܺଶ) – ߤ௑ଶ  
Var(aX + bY + c) = ܽଶߪ௑ଶ + ܾଶߪ௒ଶ +  ௑௒ߪ2ܾܽ
Cov(X, Y) = E(XY) – μXµY 
Cov(a + bX + cV, Y) = bߪ௑௒+ cߪ௏௒ 
 

 ܼ = 	ܺ − ߪߤ	  

 

 തܺ = 1݊෍ ௜ܺ௡
௜ୀଵ , ଶݏ = 1݊ − 1෍( ௜ܺ − തܺ)ଶ௡

௜ୀଵ  

 ܼ = 	 ( തܺ − ݊√/ߪ(ߤ  

ݐ  = ( തܺ − ݊√/ݏ(ߤ  

 

 Pr ൤ തܺ − ൬ ൰݊√ݏ ௡ିଵ,ఈ/ଶݐ ≤ ߤ ≤ തܺ + ൬ ൰݊√ݏ ௡ିଵ,ఈ/ଶ൨ݐ = 1 −  ߙ
 

࢏ࢅ  = ૙ࢼ + ࢏ࢄ૚ࢼ +  ࢏ࢿ
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መ଴ߚ   = തܻ − መଵߚ തܺ 
 
࢏ࢅ  = ૙ࢼ + ࢏૚ࢄ૚ࢼ + ࢏૛ࢄ૛ࢼ + …	+ ࢏࢑ࢄ࢑ࢼ +  ࢏ࢿ
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TSS  =  ESS + RSS 

 ܴଶ = ESSTSS = 1 − RSSTSS = 1 − ∑ ݁௜ଶ௡௜ୀଵ∑ ( ௜ܻ − തܻ)ଶ௡௜ୀଵ  

 തܴଶ = 1 − ∑ ݁௜ଶ/(݊ − ݇ − 1)௡௜ୀଵ∑ ( ௜ܻ − തܻ)ଶ௡௜ୀଵ /(݊ − 1) = 1 − (1 − ܴଶ) ݊ − 1݊ − ݇ − 1 

ܨ  = ݊)/ܴܵܵ݇/ܵܵܧ − ݇ − 1) 
 

 


